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QUESTION 1

Consider the following source material: 

"The applicant will have a good credit score if the applicant has an acceptable number of credit accounts in good
standing. The applicant has an acceptable number of credit accounts in good standing if the applicant has 3 or more
credit accounts with a positive balance". 

Suppose that you need to model whether the applicant will have a good credit score in a single rule. 

What style should "the applicant has 3 or more credit accounts with a positive balance" be modeled in? 

A. OPM ?Level 1 (condition) 

B. OPM ?Premise (level 2) 

C. OPM ?Level 2 (condition) 

D. OPM ?Premise 

E. OPM ?Conclusion 

Correct Answer: D 

 

QUESTION 2

Your policy model has two entities: the applicant (Global) and the applicant\\'s income. 

What type of relationship does the text "the applicant\\'s primary income" describe? 

A. one-to-one 

B. self-referential one-to-one 

C. many-to-one 

D. one-to-many 

E. many-to-many 

Correct Answer: A 

 

QUESTION 3

You have a number attribute "the child\\'s age in years". In an interview, you want to ensure that the user is only able to
enter ages between 0 and 15. 

What are the three methods to achieve this? 

A. Specify the maximum and minimum values within the Edit Attribute dialog box. 
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B. Write a warning event rule. 

C. Use a regular expression within the Edit Attribute dialog box. 

D. Write an error event rule. 

E. Create a number value list with the allowed ages, then associate the list with the child\\'s age attribute. 

Correct Answer: ADE 

 

QUESTION 4

You are working in a policy model in which the entity "the parent" has a one-to-many relationship ("the parent\\'s
children") with the entity "the child". You need to develop a rule that proves the attribute "the parent has put all of the
kids to bed", based on the attribute "the child is in bed". 

Which is the correct rule? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

You are instructed to create a very simple interview with a minimal number of elements. 

Which three elements must be included in an interview? 

A. at least one Submit button 

Latest 1Z0-345 Dumps | 1Z0-345 VCE Dumps | 1Z0-345 Practice Test                                3 / 5

https://www.passapply.com/1z0-345.html
https://www.passapply.com/1z0-345.html
https://www.passapply.com/1z0-345.html


https://www.passapply.com/1z0-345.html
2021 Latest passapply 1Z0-345 PDF and VCE dumps Download

B. at least one stage 

C. at least one goal 

D. at least one entity collect 

E. at least one screen 

F. at least one label 

Correct Answer: ACE 
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